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2-2 BEX
) B EE By HNES =
Hik=7 B A X C yC Y W
[m2] [m] [m] [kN/m3] [kN/m]
C1 | #tee 0.945 0.150 1.925 24.0 22.68
C3 | fMtE2EIDIKIR 0.105 0.150 0.175 24.0 2.52
C4 | M ETERR 0. 840 1.500 0.175 24.0 20.16
C HEEEERIA D & FT 1.890 0.750 1.050 24.0 45. 36
S1 | HFmt 7. 560 1.500 1.925 17.0 128. 52
S EETDEE 7. 560 1.500 1.925 17.0 128. 52
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No. 1 [EREt#HI] (L ZUfEEE)
3. FEMTRER D
3-1 ERFfrERF
3-1-1 TEDHE (REFHEMH)
XFEEF [(V—Br0xEARK]) ICKYEHEZTS.
- TEOERAESSCERAELEEEERAIL, EEEMETHEZITI.
BEEEAS = ¢ = 5 +25.0=1250 (BEKTy MER)
1) FEHLERH
Ka = cos? (p-a)
cos2a - cos(a+3) -(1 + /2(‘)222:?; 2&2%2:@% )2
¢-B =250- 0.0= 25.00° (p<BDEE 0)
Ka = cos2(25.0 - 0.00) - = 0.3673

cos? 0.00 % cos( 0.00+12.5) * (1 + /Si“<25-0 +12.50) - 5n(25.0)

cos ( 0.00+12.50) = cos( 0.00- 0.0)

2) EEXICKSEE

Pal = & Ka - ys-H = - * 0.3673 % 17.0 % 3.5002 = 38.25 kN/m
) EEIFMEIZLDHIE
Pa2 =Ka -gq-H=20.3673 « 10.0 * 3.500 = 12.85 kN/m
4) TEERBEIZLSDN
EFAAESs = o+8 = 0.000 + 12.500 = 12.500°
Pal H = Pal -cos8s = 38.25 * cos(12.500) = 37.34 kN/m
Pal V = Pal -sin8s = 38.25 % sin(12.500) = 8.27 kN/m
Pa2 H = Pa2-cos8s = 12.85 * cos(12.500) = 12.55 kN/m
Pa2 V = Pa2 -sinds = 12.85 % sin(12.500) = 2.78 kN/m
3-1-2 EB D &EE
$hEH KEH
2 % P \Y, X V X H y Hy
[kN/m] [kN/m] ~ [m]  [kNm/m] [kN/m] ~ [m]  [kNm/m]
R4 45. 36 45.36 0.750 34.02 0.00 1.050 0.00
TEt 128.52 128.52 1.500 192.78 0.00 1.925 0.00
REESHE 24.00 24.00 1.500 36. 00 0.00 3.500 0.00
TE 38.25 8.27 0.300 2.48 37.34 1.166 43.56
REHFTEICKLSTE 12.85 2.78 0.300 0.83 12.55 1.750 21.96
TJIVRAFE 1.00 0.00 0.000 0.00 1.00 4.600 4. 60
& &t > 208. 94 266. 11 50. 89 70.13
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No. 1 [EkEHHI]
3-1-3 REHE
1) BB HiRE

(L BgERE)
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2) EHERMED®RET
g = M=o 266.11 -  70.13
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e:%—d :%— 0.937
3) EMhBEnXIFHICET 5%t
al, g2 = Zg/ - (1x GB-e)
a2 2 S
ql a2
4) BENCEEHT ST
Fs = ZR*L - gg gg - 1847
Rh= SV -y = 20894%0. 450 =

0.937 m

0.412 m

) = 148.24 kN/m?
B 6.53 kN/m2

94.02 kN/m
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No. 1 [EREt#HI] (L ZUfEEE)
3-1-4 LEDHE (BHFHER)
-xFEEF (VB oxEARK] ICKYEHEETS.
- TEOEAESSCIERAELBEEEERAIL, EEEMETHEZITI.

BERESAO = ) ¢ = *25.0=1250 (EKTv MER)
1 EEEERY
Ka = cos? (¢p-a)

cos2a +cos(a+d) -(1 + /Sin(¢+6) -sin(g—gg )2

cos(a+8) - cos/(

-8B =25.0- 0.0= 25.00° (p<BDEZF 0)

Ka = cos? (25.0 - 0.00) ; = 0.3673

51N (25.0 +12.50) - 51n(25.0)
cos? 0.00 * cos( 0.00+12.5) * (‘ * v/cos( 0.00+12.50) = cos ( 0.00- 0.0)

2) EEXICKSERE

Pal = 4%7 Ka = ys-H = 4%7 % 0.3673 % 17.0 * 3.1502 = 30.98 KN/m

3 REHFMEICIDILE
Pa2 = Ka -q-H=0.3673 * 10.0 * 3.150 = 11.57 kN/m

4) TEERAEICLSAN

ERAESs = a+ 8 = 0.000 + 12.500 = 12.500°
Pal_ H = Pal -cos8s = 30.98 * cos(12.500) = 30.24 kN/m
Pal V = Pal -sinds = 30.98 * sin(12.500) = 6.70 kN/m
Pa2 H = Pa2-cos8s = 11.57 * cos(12.500) = 11.29 kN/m
Pa2_V = Pa2 - sinds = 11.57 * sin(12.500) = 2.50 kN/m
3-1-5 #MtBEDHEE
1) EBRHDEE
2t MEEXRIREL Y Omm
2 %8 P S y M S y M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m] ~ [m]  [kNm/m]
TE 30.98 30.24 1.050 31.76
RESFMEICLSTE 11.57 11.29 1.575 17.79
TJIVARE 1.00 1.00 4.250 4.25
& &t > 42.54 53.80
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No. 1 [ER&t1] (L BfEEE)]
2) WERE (Di+h) [Baf5 - D16 -@125]
M = 53.80 KNm/m
S = 1254 KkN/m
As 1588. 8 _
P = p.d = 7000 232 - 000684
k =42pn+ (pn)2 -p-n
- /7 % 000684 ¥ 15 = (000684 * T5)Z - 0.00684 * 15 = 0.362
_1_ k _4_ 0362 _
io=1- K= 362 = 0.879
M 2 % 53.80 * leb _
¢ = jb-d7 T 0.362 x 0.879 * 1000 % 2322 - 0280 Nmm? o< 7.00  OK
M _ 53.80 * 1e6 _
_ s . 42.54 % 1e3 _
3-1-6 M\ EEBROR HEHE
1) {EREADES
St PAEKEEY  Omm
g P S X M S X M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m] [kNm/m]
i%(#btrm) 20.16 20.16 1.200  24.19
128.52 | 128.52 1.200 154.22
ﬁﬁﬁ#i 2400 2400 1.200  28.80
30 98 6.70 1.600  10.72
%ﬁﬁril;éir 11,57 250 1.600 4 00
KRR N 132,49 | -166.83 0 837 -139.73
& = 5 15.05 82. 21
X WEESFRdM = 53.80
2) WERE (Di+h) (B4 : D16 -@150]
M = 53.80 KNm/m
S - 1505 KkN/m
_As 1324.0
P = . = 7000 * 282 0.00469
k =42pn+ (pn)2 -p-n
- /7 % 000460 * 15 = (000469 * T5)Z - 0.00469 * 15 = 0.311
.k 0.311 _
o=t K= 1L~ 0.896
M 2 % 53.80 * leb _
¢ = jb-d7 T 0.317  0.896 1000 = 2827 - 488 Wm? o< 7.00  OK
Y _ 53.80 * 1e6 _
_ s 15.05 * 1e3 _
T =pj-d T 1000 * 0.896 x 282 = 005 Nm? = 070 OK
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No. 1 [ER&HHI] (L BufeEE]
3-2 ERFER [(RESHFTENLIVEE]
3-2-1 LEDHE (REFHER)

X BERFAEROLIENHELRLTHA-H, HAZEBLET,

3-2-2 tERAD K5
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$hE AN KEA
& £ P \V/ X V X H y Hy
[kN/m] [kN/m] ~ [m]  [kNm/m] [kN/m]  [m]  [kNm/m]
R 1K 45. 36 45.36 0.750  34.02 0.00 1.050  0.00
EEL 128.52 | 128.52 1.500 192,78 0.00 1.925  0.00
tE 38. 25 8.27 0.300 248 37.34 1.166  43.56
JIUREE 1,00 0.00 0.000  0.00 1,00 4.600 4. 60
& 5 182.15 229. 28 38. 34 48.16
323 REHE
1) ExfEIZREd %4t
W S Vx 229,28
Fs = - ar 2.28 4. 759 > 1.50
2) BHERMED®RET
~ M = Mo 229.28 - 48.16
d =—5sv = 18215 0.994 m
6 :%—d :%— 0.994 = 0.355m < B/6 = 0.450
3) EmEhiEDXiFHICET S5t
ql, a2 = ZE\;/ - (1% GB'e)
182,15 6 % 0.355. . 120.79 KN/m2 < 150
al.az = —550 * (0 = —5500 2 = U 1413 kN/m
4) BEIZEEHT AT
_ Rh 81.97 _
Fs = 0 L3 = 213 > 1.50
Rh= SV-pu= 182.15%0.450 = 81.97 kN/m
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No. 1 [EREt#HI] (L ZUfEEE)
3-2-4 LEDHE (EHFHER)
X EHAEROLIEOHELRLCTHD-O. HHZEEBKLET,
3-2-5 HEEDSHHE
1) ERIGHDEE

2t WMEEXRIRL Y Omm
E P S y M S y M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m]l ~ [m]  [kNm/m]
+E 30.98 30.24 1.050  31.76
JIVREE 1,00 100 4.250  4.25
& &t 5 31.24 36.01
2) BrmE&EST (DlTh) [E2fn : D16 -@125]
M = 3601 KNm/m
S = 31.24 kN/m
_ As 1588. 8 _
P =p.d = 7000 x 232 - 000684
k =42pn+ (p-nN2 - p-n
= /7 % 0.00684 * 75 + ( 0.00684 * 15)Z - 0.00684 % 15 = 0.362
jio=1-HK=1-03% o g7
M 2 % 36.01 % 1e6 _
0C = i p-d7 = 0.362 % 0.879 % 1000 » 2322 - 4203 N/mm> =< 700 OK
M ) 36.01 * 16 i
OS = fs-j-d " 1588.8 * 0.879 * 232 = 1110 N/mm? = 1950 OK

0.153  N/mm?

IA

0.70 0K

S 31.24 *x 1e3
J

v T b-j-d 1000 * 0.879 * 232
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No. 1 [E&&EtHI]1 (L BUfEEE)]
3-2-6 M EEMRDIEHEE
1) ERARHDEE

St PAEKIEEY  Omm
CE P S X M S X M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m] ~ [m]  [kNm/m]
BIE (AL B 2016 | 2016 1.200  24.19
EE+ 128°52 | 12852 1.200 154.22
tHE 30. 98 6.70 1.600 1072
ERRR 7 -108.94 | -147.69 0.891 -131.72
& & : 7.68 57.42
X WEDTROM = 36.01
2) WiE®RE (D) [82%5 : D16 ~0150]
M = 36.01 kn/m
S = 768 ki/m
_ A _ 13240  _
P ="p.d T 1000 x 287 - 0-00469
k =42-pn+ (p-n)? -p-n
= /7% 0.00469 * 15 + ( 0.00469 * 15)7 - 0.00469 * 15 = 0.311
-k _ 4 _ 0311 _
io=1-HK=1--031 o 0o
I 2 VI 2 % 36.01 * le6 _
¢ = jb-d7 T 0.317 * 0.896 * 1000 = 2827 - o245 Wmm? o< 7.0 OK
oM 36.01 % 1e6 _
_ s 7.68 * 1e3 _
T = B-jd T 1000 % 0.896 x 282 = 0030 N/mm? = 070 O
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No. 1 [ER&HHI] (L BufeEE]

3-3 HhEFMER (hHER . BRLE+EMEN)

3-3-1 LEDHE (REHER)

X BERFAEROLIENHELRLTHA-H, HAZEBLET,

3-3-2 tERADK5
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MEAH KEA
& #F P \V/ X V X H y Hy
[kN/m] [kN/m] ~ [m]  [kNm/m] [kN/m] ~ [m]  [kNm/m]
R 1A 45. 36 45.36 0.750  34.02 9.07 1.050 9.52
EEt 128.52 128.52 1.500 192.78 25.70 1.925 4948
REHAE 24. 00 24.00 1.500  36.00 0.00 3.500 0.00
+F 38.25 8.27 0.300 2.48 37.34 1.166  43.56
FEHBNEICLZLTE 12.85 2.78 0.300 0.83 12.55 1.750  21.96
& & b3 208. 94 266. 11 84.67 124. 54
3-3-3 REHE
X HEEICEY, TEMFEOREEFERLES,
ICAHEICAWSERRAZE. UTICHALET,
1) EHERMED®EE
_ Mr - Mo 266.11 - 124.54 _
e :%—d :%— 0.677 = 0.672m

2) ERBOXEFHICET 51&E
X BHERSNERTROEMIE/30HICHS (B/6<|e|<B/3)
2.3V 2 % 208.94
= 205. 57 kN/m2
3-(%—|e|) 3*(%_

al =
0.672)

Xn
qal a2 xn =

2.032 m
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No. 1 [EREt#HI] (L ZUfEEE)
3-3-4 EDEHE (EHFHER)
X EHAEROLIEOHELRLCTHD-O. HHZEEBKLET,
3-3-5 HEEDEHHE
1) ERIGHDEE

elvke! MEEERIHE Y Omm
(i P S y M S y M
[kN/m] [kN/m] [m]  [kNm/m] [kN/m] ~ [m]  [kNm/m]
iR () 22.68 453 155 714
+HE 3098 | 3024 1.050  31.76
REMHECLSEE | 1157 11.20 1.575  17.79
& & : 46. 08 56. 69
2) WiE®RE (D) (8 D16 -2125]
M = 56.60 kin/m
S = 4608 kN/m
__As _ __ 1588.8  _
P =74 = 000 x 237 - 0-00684
k =42pn+ (pm? -p-n
= /7% 0.00684 * 15 + ( 0.00684 = 15)Z - 0.00684 15 = 0.362
-1 - Kk - 0362 _
io=1-K=1-032 o g7
2 VR 2 % 56.69 * le6 _
¢ = Kj-b-dZ T 0.362  0.879 x 1000 » 2322 - O-618 N/mm* =< 14.00 0K
IV 5669 % 1e6 _
OS = ps-j-d T 1588.8 * 0.879 * 232 = 17493 Nm? = 2050 OK
- S _ 46.08 * 1e3 _
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No. 1 [ER&HHI] (L BufeEE]
3-3-6 MM EERDISHEE
1) fERHDEE

2015/01/27 00:00 PAGE-

YT PAEEREEY  Omm
B %8 = S X M S X M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m] [m] [kNm/m]
Bk (DD EERR) 20.16 20.16 1.200  24.19
Em+ 128.52 | 128,52 1.200 154.22
FEBEE 2400 2400 1.200 2880
TE 30. 98 6.70 1.600  10.72
REREECL LR 157 250 1.600 4 00
KRR 7 175.23 | -151.82 0.577 -87.68
& & 5 30. 07 134. 26
X WEES DM = 56. 69
2) WERE (D171 (&4 : D16 -0150]
M =  56.69 KkNm/m
S = 3007 KkN/m
_As 1324.0 _
P ="p.g = fo00 x 282 - 000469
k =42pn+ (p-nN2 - p-n
= /7 % 000460 * 15 = (000469 = T5)Z - 0.00469 * 15 = 0.311
ok _ . 0311 _
io=1-kag - 0312 g gge
M 2 % 56.69 * leb )
0C =4 T.p-dZ - 0.377 # 0.896 * 1000 = 2822 - 2109 N/mm? = 14.00
Y ) 56.69 * 1e6 _
0S = As-j-d ~ 1324.0 * 0.896 * 287 = 169.45  N/mm> = 295.0
s . 30.07 * 1e3 _
T = pj-d " 7000 * 0.896 * 282 = 0.118  N/mm> = 1.40
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No. 1 [Ex&EHHI] (L BEHEEE)
3-4 thEFER (PHER  ERLEHEEH) [REHGEHNZES]
3-4-1 T EDHE (REHER)
X EBTEROLIEDOHELRLCLTHSID. HAZERLET,
3-4-2 ER N DEE

2015/01/27 00:00 PAGE-

$hE AN KFE A
2 #F P \Y, X VX H y Hy
[kN/m] [kN/m] ~ [m]  [kNm/m] [kN/m]  [m]  [kNm/m]
Py 45. 36 45.36 0.750  34.02 9.07 1.050  9.52
EEL 12852 |  128.52 1.500 192.78 95.70 1.925 4948
tE 38. 25 8.27 0300 248 37.34 1.166  43.56
& 5 182. 15 229. 28 72.12 102.57
3-4-3 ZEFE
X OERICE Y, REHEOREREABLET,
A EICAWSERRDZ. UTICHALET,
1) EHERNEDKRET
CMr-Mo . 229.98 — 102.57 _
d =5y = 18215 = 0.6%m
e = B 4 =270 _ 695 = 0.654m
2 7
2) BB HICET ST
¥ AHERANEMRTROERIE2/3OFIZHB (B/6<|e|=B/3)
2.3V 2 % 18215
ql = - = 174.58 KN/m2
3+ (5~ e 3% (510 o654

XN
ql q2 xn = 2.086 m

16



sk Super Build,/ EEHERE ok« 160-999999 [ BT, HEEHEH] 2015/01/27 00:00 PAGE- 17
No. 1 [EREt#HI] (L ZUfEEE)
3-4-4 LEDEHE (BHFHER)
X EHAEROLIEOHELRLCTHD-O. HHZEEBKLET,
3-4-5 HEEDSHHE
1) ERIGHDEE

elvke! MEEERIHE Y Omm
(i P S y M S y M
[kN/m] [kN/m] [m]  [kNm/m] [kN/m] ~ [m]  [kNm/m]
BEE (HEEE) 22.68 453 1575  7.14
L 30.98| 30,24 1.050  31.76
& &t : 34.78 38.90
2) WrERE (DF4) [BCfh : D16 -@125]
M = 38.90 kim/m
S = 3478 KN/m
__As _ __ 1588.8  _
P ="p.g = fo00 x 232 - 000684
k =42-p-n+ (p-n)? -p-n
= /7% 0.00684 * 15+ ( 0.00684 * 157 - 0.00684 * 15 = 0.362
-1 - k _ 4 _ 0362 _
jio=1-HK=1-03% o g7
. 2m 2 % 38.00 * leb _
¢ = Kj-b-dZ T 0.362 x 0.879 x 1000 * 2322 - 4541 N/mm = 1400 0K
oM 38.90 * 1e6 _
08 = ps-j-d T 1588.8 % 0.879 * 232 = 12003 N/m? = 205.0 O

0.170  N/mm?

IA

1. 40 0K

S 34.78 * 1e3
J

v T b-j-d 1000 * 0.879 * 232



sk Super Build,/ EMEPEEE #kx 160-999999 [RHEM. & EHI] 2015/01/27 00:00 PAGE- 18
No. 1 [E&&EtHI]1 (L BUfEEE)]
3-4-6 MW EEMDIEHEE
1) ERARHDEE

YT PAEEREEY  Omm
B %8 = S X M S X M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m] [m] [kNm/m]
Bk (DD EERR) 20.16 2016 1.200  24.19
EmEm+ 128.52 | 128,52 1.200 154.22
TE 30. 98 670 1.600  10.72
iR R 5 129,48 | 133,54 0,595 —79.54
& &t 5 21.83 109. 60
X W= TROM = 3890
2) WRERE (Di+1a) [E2%5 - D16 —-@150]
M =  38.90 KNm/m
S - 21.83 KkN/m
_As 1324.0 _
P = p.d = 7000 + 282 - 000469
k =4J2pn+ (prn)2 -p-n
- /7 % 0.00469 * 75 + (0.00469  T5)Z - 0.00469 * 15 = 0.311
-k _ 4 _ 0311 _
io=1- K= 31~ 0.896
M 2 % 38.90 * 1e6 _
0C = ip-df = 0311 % 0.896 % 1000 * 2822 - 3505 N/mm> < 14.00  OK
Y . 38.90 * 1e6 i
_ S _ 21.83 x 1e3 _
T % p-j-d T 7000 % 0.896 * 282 = 0.086 N/mm? = 1.40 0K



sk Super Build,/ EMEPEEE #kx 160-999999 [RHEM. & EHI] 2015/01/27 00:00 PAGE- 19
No. 1 [EREt#HI] (L ZUfEEE)
3-b HhERER (hithEr : thERLE)
3-5-1 XEDEHE (REFHER)
cXEEF [(V—Br 0 FELAK]) ITKYEHEZTS.
- TEOERESSCERAELBEEEEAL. EEEMECHEETI.
BRSO = tan () = tan (28, = 11.30°
BEREEASe = o ¢ = 1 * 25.0 = 12.50
1 EBLEERHK
Kea = (1 - kv) cos?2(p-a-6)
cosB -cos?a -cos(de+ra+0) -(1 + /géggfngjlefmé(ﬂzgzzg )2
SIS TERT SBINRD B eceooez o
Kea = (1 - 0.00) * cos2(25.0 - 0.00 -11. 30) — 0.5392

cos11.30 % cos? 0.00 * cos (23.80) * (1 + V/gggggg-gg;%-iglg 8i8613068§

2) EEXICKSERE
1

Pal :1TKea-Ys-szT*0.5392*17.0* 3.5002 = 56.15 kN/m

3 REHBFEICLLSLE
Pa2 = Kea-q-H =0.5392 * 10.0 * 3.500 = 18.87 kN/m

4) tEFRAEICEDAN

y

EAAESs = a+8 = 0.000 + 12.500 = 12.500°
Pal_ H = Pal - cos8s = 56.15 * cos(12.500) = 54.82 kN/m
Pal_V = Pal -sinds = 56.15 * sin(12.500) = 12.15 kN/m
Pa2 H = Pa2 - cos8s = 18.87 * cos(12.500) = 18.42 kN/m
Pa2 V = Pa2-sin8s = 18.87 * sin(12.500) = 4.08 KkN/m
3-5-2 ERNHDEET
SEAH IKFE
& £ P \V/ X V X H y Hy
[kN/m] [kN/m]  [m]  [kNm/m] [kN/m] ~ [m]  [kNm/m]
R4 45. 36 45.36 0.750 34.02 0.00 1.050 0.00
SmEt 128.52 128.52 1.500 192.78 0.00 1.925 0.00
REEHAE 24.00 24.00 1.500 36.00 0.00 3.500 0.00
TE 56. 15 12.15 0.300 3.64 54.82 1.166 63. 95
XEHBFMEICKLSTE 18. 87 4.08 0.300 1.22 18.42 1.750 32.24
& &t 2 214. 11 267.67 73.25 96. 20




wkk Super Build,/ EiEHERE *+x 160-999999 [ HEM. HE&sH&EHI] 2015/01/27 00:00 PAGE- 20

No. 1 [ER&HHI] (L BufeEE]
3-5-3 REEE

X EEICLY., REFEOREIFEBLET,
A EICAWAERRNDZ. UTICHALET,

1) EhEREDIRE

d = Mr - Mo _ 267.67 - 96. 20

SV - 21411 0.800 m

0.549 m

_ B, _ 2700 _
e =5 -d =—5 0. 800

2) EMBROZXFNICET SR
% &N R AN ERSRROERIE/3DHRIHS (B/6< || <B/3)
2- 31V 2 % 214,11
- = 178.25 kN/n?
3+ (B~ e 3% (510 o549

al =

Xn
at a2 xn = 2.402 m

3-5-4 TEDFE (EAFHEM)
-TREFE (V-0 0XEAK] TKUHEZETS,
LEOHAES S UERAEEEERRAL. REEUETHEZET,
wEBERA O = tan (75 ) = tan! (125055 = 11.30°

%ﬁgﬁﬁae:%f¢:g%*z50:uﬁo

1) FEELEREK
(1 - kv) =cos?(¢p-a-6)

Kea =
. . . sin(p+de) -sin(d-B-0) Y
c0sf - cos’a - cos(dera+d) (1 * /cos(6e+oz+9) - cos (- B) )
¢-B-6 =25.00- 0.00-11.30 = 13.69° (p<B+ODEZE 0)
Seta+6 =12.50 + 0.00 + 11.30 = 23.80°
Kea = (1 - 0.00) * cos?(25.0 - 0.00 -11.30)

sin(25.0+12.50) - sin(13.69) Y?

cos11.30 * cos? 0.00 * cos (23.80) * (1 + [SIN{Z5.0+12.50) - sinfI3. 69

) BEH-LBEE
PM:—%K%-vazz%—*0%%*1TO*31%2: 45.48 KkN/m

3 REHFMEICIDILE
Pa2 = Kea-q-H=0.5392 * 10.0 * 3.150 = 16.98 kN/m

= 0.5392



*xxx Super Build,/ EEHEEE »x 160-999999 [&ZHET. #&&EsT&EH]

No. 1 [ER&HHI] (L BufeEE]
4) LEFRAEICEDAN

2015/01/27 00:00 PAGE-

ERBESs = a+6 = 0.000 + 12.500 = 12. 500°
Pal H = Pal -cos8s = 45.48 % cos(12.500) = 44.40 kN/m
Pai V = Pal - sinds = 45 48 * sin(12.500) =  9.84 kN/m
Pa2 H = Pa2-cos8s = 16.98 * cos(12.500) = 16.58 kN/m
Pa2 V = Pa2 - sinds = 1698 * sin(12.500) =  3.67 kN/m
3-5-5 ftEDHETE
1) R DES
D1 MEEERIR K Y Omm
E P S y M S y M
[kN/m] [kN/m] [m] [kNm/m] [kN/m]l  [m]  [kNm/m]
+E 45. 48 44.40 1.050  46.62
REHEEICL AL 16. 98 16.58 1.575 2612
& 5 60. 99 72.74
2) WiEHRE (DIH4) [EfG - D16 —0125]
M = 72.74 kNm/m
S =  60.99 kN/m
As 1588. 8 _
P =-p.d = 7000 x 232 - 0.00684
k =4 2pn+ (prn)2 -p-n
= /2% 000684 * 15 + (000684 * 15)Z - 0.00684 * 15 = 0,362
io=1- K21 - 0302 2 g9
M 2 % 72.74 % 1eb _
0C = jb-dZ = 0.362  0.879 * 1000 = 2322 - 8491 N/mm* = 14.00
_ M _ 72.74 % 1eb6 _
0S = fs-j-d ~ 1588.8 * 0.879 * 232 = 22444 N/mm? =< 295.0
_ S _ 60.99 * 1e3 _
T = pj-.d " 7000 % 0.879 ¥ 232 = 0298 N/mm? = 1.40

21

0K

0K

0K



*xxx Super Build,/ EEHEEE »x 160-999999 [&ZHET. #&&EsT&EH]

No. 1 [ER&HHI] (L BufeEE]
3-5-6 MM EERDIGHEE
1) fERHDEE

2015/01/27 00:00 PAGE-

YT PAEEREEY  Omm
B %8 = S X M S X M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m] [m] [kNm/m]
Bk (DD EERR) 20.16 20.16 1.200  24.19
Em+ 128.52 | 128,52 1.200 154.22
FEBEE 2400 2400 1.200 2880
TE 45. 48 9.84 1.600 1575
REREECL LR 16. 98 367 1600 5 88
KRR 7 155.99 | —-163.98 0.700 —-114.91
& & 5 22. 22 113. 93
X WESTROM = 7274
2) WERE (D171 (&4 : D16 -0150]
M = 72.74 KNm/m
S - 2222 KkN/m
_As 1324.0 _
P ="p.g = fo00 x 282 - 000469
k =42pn+ (p-nN2 - p-n
= /7 % 000460 * 15 = (000469 = T5)Z - 0.00469 * 15 = 0.311
ok _ . 0311 _
io=1-kag - 0312 g gge
M 2 % 72.74 * 1eb )
0C =4 T.p-dZ - 0.377 #0.896 * 1000 = 2822 - 06595 N/mm? = 14.00
Y . 72.74 % 1e6 _
0S = As-j-d ~ 1324.0 * 0.896 * 287 =217.41  N/mm? = 295.0
s . 22.92 * 1e3 _
T = pj-d T 7000 % 0896 * 282 = 0.087 N/mm* = 1.40

22

0K

0K

0K



sk Super Build,/ EEHERE ok« 160-999999 [ BT, HEEHEH] 2015/01/27 00:00 PAGE- 23
No. 1 [EREt#HI] (L ZUfEEE)
3-6 MEMER (PHER : MERLIE) [REHETEHLLTIEE]
3-6-1 LEDHE (REHER)
X MERER (hHER  HERFLIE) OLTEDOHELRLTHDI-H, HAZEBRLET,
3-6-2 fERA N DEKE

$hE A KIEA
E P V X VX H y Hy
[kN/m] [kN/m] ~ [m]  [kNm/m] [kN/m] ~ [m]  [kNm/m]
ER 4K 45. 36 45.36 0.750 34.02 0.00 1.050 0.00
smt 128.52 128.52 1.500 192.78 0.00 1.925 0.00
TE 56.15 12.15 0.300 3.64 54.82 1.166 63. 95
& i )3 186. 03 230. 44 54.82 63. 95

I2&Y. REFEOBEIERLET,
A EICAWSERRDZ. UTICHALET,

1) BHERLEDIRE

CMr-Mo _ 230.44 -  63.95 _
d =5y = 186,03 = 0.8%m

_ B _ _2.700
e d =

=5 - 0. 894 0.455 m

2) REMIEOZHENIZET B
X SNERENERTROEMRIE/3DHIZHD (B/6<|e| <B/3)

al = e 25 8008 = 138.58 KN/m?
3+ (5 - lel) 3k (—5— -

0. 455)

XN
ql q2 Xn = 2.684 m




sk Super Build,/ EEHERE ok« 160-999999 [ BT, HEEHEH] 2015/01/27 00:00 PAGE- 24
No. 1 [EREt#HI] (L ZUfEEE)
3-6-4 LEDEE (EAHFHER)
X HERIER (PHIER  MERLTE) OLXEDHELRLTHL N, HAZTEBRLET,
3-6-5 HEBEDGNETE
1) ERIGHDEE

2t WMEEXRIRL Y Omm
g # P S y M S y M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m]l ~ [m]  [kNm/m]
+E 45,48 44.40 1.050  46.62
& &t 5 44. 40 46. 62
2) WiERE (DlFh) [B2%5 : D16 —@125]
M =  46.62 KNm/m
S =  44.40 kN/m
As 1588. 8 _
P = . = 7000 » 232 - 000684
k =4 2pn+ (prn)2 -p-n
= /7 % 000684 * 15 + ( 0.00684  15)Z - 0.00684 * 15 = 0.362
jo=1- K=o 0382 o g7
_ 2-M _ 2 x 46.62 * 1e6 _
0C = 5 p-d7 = 0.362 % 0.879 % 1000 % 2322 - o442 N/mm? < 1400  OK
M . 46.62 * 1e6 .
_ s . 44,40 * 1e3 _
T = pj-d T 1000 % 0.879 % 232 = 0217 Wm? o= 1.0 OK



sk Super Build,/ EMEPEEE #kx 160-999999 [RHEM. & EHI] 2015/01/27 00:00 PAGE- 25
No. 1 [E&&EtHI]1 (L BUfEEE)]
3-6-6 M EEMRDEHEE
1) ERARHDEE

YT A EREEEY  Omm
g #E = S X M S X M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m] [m] [kNm/m]
Bk (DD EERR) 20.16 20.16 1.200  24.19
TE+ 128.52 | 128.52 1.200 154.22
TE 45, 48 9.84 1600 1575
iR R 5 123,09 | -146.78 0.794 -116. 68
& &t 5 11.74 77.48
X WS FROM = 46,62
2) WRERE (Dl+h) (B4 : D16 -@150]
M =  46.62 KNm/m
S - 11.74 KkN/m
_As 1324.0 _
P = p.d = 7000 + 282 - 000469
k =42pn+ (pn)2 -p-n
- /7 % 000460 * 15 = (000469 * T5)Z - 0.00469 * 15 = 0.311
-k _ 4 _ 0311 _
io=1- K= 31~ 0.896
M 2 % 146.62 * 1eb _
0C =4 ].p-dz = 0.377 # 0.896 * 1000 = 2822 - 4201 N/mm? < 1400  OK
Y . 46.62 * 16 _
08 = ps-j-d T T324.0 % 0.896 * 282 = 139.34 Nm? = 2050 OK
_ s . 11.74 * 1e3 _
T = b-jd T 1000 * 0.896 x 282 = 0.046 N/mm? = 1.40 O



sk Super Build,/ EEHERE ok« 160-999999 [ BT, HEEHEH] 2015/01/27 00:00 PAGE- 26
No. 1 [EREt#HI] (L ZUfEEE)
3-7 MEMER (KER . ERLE+HEMERN)
3-1-1 LEDHE (REFHER)
X ERAEROLIEDOHELRLCTHL-O. HHEEBLET,
3-1-2 fER DD &E

SATE 7 KEH
& #F P \V/ X V X H y Hy
[kN/m] [kN/m]l  [m]  [kNm/m] [kN/m]  [m]  [kNm/m]
Bk 45. 36 45.36 0.750  34.02 11.34 1.050  11.90
EE+ 128.52 | 128,52 1.500 192,78 3213 1.925  61.85
FEBAE 24,00 2400 1.500  36.00 0.00 3.500 000
TE 38. 25 8.27 0300 2 48 3734 1.166  43.56
EEHNEICLLLE 12.85 278 0300 083 12,55 1.750  21.96
& & 5 208. 94 266. 11 93. 36 139. 29
3-7-3 REHE
1) #EI-Ed B85t
M . svx . 26611
Fs = g = $¢%- = —Z8800-= 1010 > 1.00 0K
2) EHERMEDRET
C Mr-Mo _ 266.11 - 139.29 _
d =—5sv = 20894 = 0.606 m
6 = 4%7 4 = 44251997 ~ 0.606 = 0.743m < B/2= 1.350 0K

3) EMBOXFEHICET HRE
X ANERARDNERTROERE2/3OFIZHD (B/6<|e|=B/3)
2.3V 2 x _ 208.94

ql = = = 229.48 kN/m2 = 300 0K
3- (B e 3 (2700 _ g 743
2 2
Xn
ql 92 xn = 1.820 m
4) BEZEHT H1REt
_ _Rh  _ 94.02 _
Fs = SHo - 93 36 - 1. 007 = 1.00 0K
Rh=2%XVv-pu = 20894 % 0.450 = 94.02 kN/m



sk Super Build,/ EEHERE ok« 160-999999 [ BT, HEEHEH] 2015/01/27 00:00 PAGE- 27
No. 1 [EREt#HI] (L ZUfEEE)
3-1-4 EDHE (BHFHER)
X EHAEROLIEOHELRLCTHD-O. HHZEEBKLET,
3-7-5 WEEDEHHE
1) ERIGHDEE

2fth WMEEXRIRL Y Omm
g # P S y M S y M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m]l ~ [m]  [kNm/m]
Rk (HiEEE) 22.68 567 1.575  8.93
+E 30. 98 30.24 1.050  31.76
EEHNEICL AL 11.57 11,29 1,575 17.79
& it 5 47. 21 58. 48
2) WiERE (DiHh) [EES - D16 —0125]
M = 5848 kNm/m
S = 47.21 KkN/m
s 1588. 8 _
P = 5. = 7000 « 232 - 000684
k =42pn+ (pn)2 -p-n
= /7 % 000684 * 15 + (000684 * 15)Z - 0.00684 * 15 = 0,362
_1_  k _4_ 0362 _
io=1- K= 362 = 0.879
M 2 % 58.48 % 1eb )
OC = Kj-b-dZ T 0.362 x 0.879 x 1000 » 2322 - ©-826 N/mm* = 21.00 0K
M _ 58.48 % 1e6 )
_ S _ 47.21 * 1e3 _



*xxx Super Build,/ EEHEEE »x 160-999999 [&ZHET. #&&EsT&EH]

No. 1 [ER&HHI] (L BufeEE]
3-7-6 MM EERDISHEE
1) fERHDEE

2015/01/27 00:00 PAGE-

YT PAEEREEY  Omm
B %8 = S X M S X M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m] [m] [kNm/m]
Bk (DD EERR) 20.16 20.16 1.200  24.19
Em+ 128.52 | 128,52 1.200 154.22
FEEBAE 2400 2400 1.200 2880
TE 30 98 6.70 1.600  10.72
REREECL LR 1. 57 250 1.600 4 00
ERE D 191,67 | -145.76 0.506 —73.90
& & 5 36. 12 148. 05
X WESFOM = 5848
2) WEBRE (D) [&H5 - D16 -0150]
M = 5848 KNm/m
S - 3612 kN/m
_As 1324.0 _
P ="p.d = 000 * 282 - 000469
k =42pn+ (p-nN2 - p-n
= /7 % 000460 * 15 = (000469 = T5)Z - 0.00469 * 15 = 0.311
.k . 0311 _
io=1-kag - 0312 g gge
M 2 % 58.48 * leb _
0C =4 T.p-dZ - 0.377 #0.896 * 1000 = 2822 - 2210 N/mm? = 21.00
Y . 58.48 * 1e6 _
0S = As-j-d ~ 1324.0 * 0.896 * 287 = 17478 N/mm? = 295.0
s . 36.12 * 1e3 _
T = pj-d " 7000 * 0.896 * 282 = 0.142 N/mm> = 2.10

28

0K

0K

0K



sk Super Build,/ EEHERE ok« 160-999999 [ BT, HEEHEH] 2015/01/27 00:00 PAGE- 29
No. 1 [EREt#HI] (L ZUfEEE)
3-8 hERER (KER : EREEHEMNH) [(REBFTEHNLZEGESE]
3-8-1 LEDHE (REHER)
X ERAEROLIEDOHELRLCTHL-O. HHEEBLET,
3-8-2 fERA N D&KE

NEA KE A
E P V X VX H y Hy
[kN/m] [kN/m]l  [m]  [kNm/m] [kN/m]  [m]  [kNm/m]
R 1K 45. 36 45.36 0.750  34.02 11.34 1.050  11.90
EEL 128.52 | 128.52 1.500 192,78 3213 1.925  61.85
TE 38. 25 8.27 0.300 248 37.34 1.166  43.56
& & 5 182.15 229. 28 80, 81 117.32
3-8-3 REHE
1) BB 9 A&t
M . Svx _ 229.98
Fs =M= 530 =—200-0 - 1.9 > 1.00 0K
2) EHERMEDRET
CMr-Mo . 229.28 - 117.32 _
d =—"5sv = 182,15 = 0.614m
6 = 4%7 ~d = 44351997 ~ 0614 = 0.73m < B/2= 1.350 OK

3) ERHBOIENICET M
X B AR A ER B ROEMIE/3OHR<HS (B/6<|e|<B/3)

at = Zé LY - 2 5 70582'15 = 197.58 kN/m2 =< 300 0K
3+ (5~ leD) 3% (—57 - 0.735)
2 2
XN
al a2 xn = 1.843 m

4) BEICET HIRE

__Rh _ 81.97 _
Fs =<5 = go sl - 1.014

v

1.00 0K

Rh=2V-pu = 18215 % 0.450 = 81.97 kN/m



sk Super Build,/ EEHERE ok« 160-999999 [ BT, HEEHEH] 2015/01/27 00:00 PAGE- 30
No. 1 [EREt#HI] (L ZUfEEE)
3-8-4 LEDHE (EHFHER)
X EHAEROLIEOHELRLCTHD-O. HHZEEBKLET,
3-8-5 HEEDSHHE
1) ERIGHDEE

elvke! MEEERIHE Y Omm
(i P S y M S y M
[kN/m] [kN/m] [m]  [kNm/m] [kN/m] ~ [m]  [kNm/m]
BEE (HEEE) 22.68 567 1.575 893
tIE 30.98 | 30,24 1.050  31.76
& &t : 35,91 40.69
2) WrERE (DF4) [BCfh : D16 -@125]
M = 40.60 Kim/m
s = 3501 kN/m
__As _ __ 1588.8  _
P ="p.g = fo00 x 232 - 000684
k =42-p-n+ (p-n)? -p-n
= /7% 0.00684 * 15+ ( 0.00684 * 157 - 0.00684 * 15 = 0.362
-1 - k _ 4 _ 0362 _
jio=1-HK=1-03% o g7
. 2m 2 % 40.69 * le6 _
OC = Kj-b-dZ T 0.362 x 0.879 x 1000 * 2322 - 4749 N/mm = 21.00 0K
oM 40,69  1e6 _
08 = ps-j-d T 1588.8 % 0.879 * 232 =125.54  N/m? = 205.0 0K
_ s 35.91 * 1e3 _
T = bjd T 1000 % 0.879 * 232 = 0176 N/mm* = 210 O



*xxx Super Build,/ EEHEEE »x 160-999999 [&ZHET. #&&EsT&EH]

No. 1 [ER&HHI] (L BufeEE]
3-8-6 MM EERDIGHEE
1) fERHDEE

2015/01/27 00:00 PAGE-

St DI EEHEY  Omm
CE P S X M S X M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m] ~ [m]  [kNm/m]
BEE (D & AR 2016 |  20.16 1.200  24.19
EET 128°52 | 12852 1.200 154.22
L 30.98 6.70 1.600 1072
ERRR ~165.43 | -127.70 0.514 -65.71
& &t : 27.68 123.42
X WEOTROM = 40.69
2) WEREH (D1F0) [82%5 : D16 ~0150]
M = 40.69 KNm/m
S = 27.68 kN/m
_ s 13240
P ="p.g = 7000 x 287 - 0 00469
k =42pn+ (pm? -p-n
= /7% 0.00469 * 15 + ( 0.00469 * 15)7 - 0.00469 * 15 = 0.311
Sy ko 0311 _
io=1-HK=1--031 o 0o
S VI 2 % 40.69 * le6 _
¢ = T -b-dZ = 0.317  0.896 * 1000 * 282z - 666 N/mm* = 21.00
oM 4069 * 166 _
08 = ps-j-d T T324.0 % 0.896 * 282 =121.61  N/m? = 295.0
- S - 27.68 * 1e3 _
T = b-jd T 1000  0.896 x 282 = 0109 N/mm? = 2.10
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No. 1 [EREt#HI] (L ZUfEEE)
-9 HhERER (KhER: thERLE)
3-9-1 XEDEHE (REFHER)
cXEEF [(V—Br 0 FELAK]) ITKYEHEZTS.
- TEOERESSCERAELBEEEEAL. EEEMECHEETI.
BRSO = tan () = tan (2245, = 14.03°
BEREEASe = o ¢ = 1 * 25.0 = 12.50
1 EBLEERHK
Kea = (1 - kv) cos?2(p-a-6)
cosB -cos?a -cos(de+ra+0) -(1 + /géggfngjlefmé(ﬂzgzzg )2
SIS TEYT SBIURT R eceooez D
Kea = (1 - 0.00) * cos2(25.0 - 0.00 -14.03) — 0.6006

cos14.03 * cos? 0.00 * cos (26.53) * (1 + V/gggggg-ggg%-iglg 3‘351°b98§

) BELI-LDEE
PMz—%Km-rvHZ:%f*Qw%*1IO*36%2: 62.53 kN/m

3 REHBFEICLLSLE
Pa2 = Kea-q-H =0.6006 *x 10.0 * 3.500 = 21.02 kN/m

4) tEFRAEICEDAN

y

EAAESs = a+8 = 0.000 + 12.500 = 12.500°
Pal_ H = Pal - cos8s = 62.53 * cos(12.500) = 61.05 kN/m
Pal_V = Pal -sinds = 62.53 * sin(12.500) = 13.53 kN/m
Pa2 H = Pa2 - cos8s = 21.02 * cos(12.500) = 20.52 kN/m
Pa2 V = Pa2-sin8s = 21.02 * sin(12.500) = 4.54 KkN/m
3-9-2 ERANDEE
MEAH KEAH
& £ P \V/ X V X H y Hy
[kN/m] [kN/m] ~ [m]  [kNm/m] [kN/m] ~ [m]  [kNm/m]
R4 45. 36 45.36 0.750 34.02 0.00 1.050 0.00
SmEt 128.52 128.52 1.500 192.78 0.00 1.925 0.00
REEHAE 24.00 24.00 1.500 36.00 0.00 3.500 0.00
TE 62. 53 13.53 0.300 4.06 61.05 1.166 71.23
XEHBFMEICKLSTE 21.02 4.54 0.300 1.36 20.52 1.750 35.91
& &t 2 215.96 268. 22 81.58 107. 14




*xxx Super Build,/ EEHEEE »x 160-999999 [&ZHET. #&&EsT&EH]
No. 1 [E&&tHI]1 (L ZEHEE)
3-9-3 REHE

1) SEMEIIZEET HME

M . Svx _ 268.22
Fs = o = sHy = T0714 = 2503

2) ANERMEDRE

_ _Mr-Mo _ 268.22 - 107.14 _

_ B, _ 2700 _
e =5 -d =—5 0. 745

0.604 m

3) EMBOXFNICEHT HKRE

X ANERRASERPROERIE/3OHTIZHD (B/6<]e|=B/3)
193. 03 kN/m2

a - 23V _ 2 % 215.96
3. (B e 3% (27190 _ 6oy
2 2
XN
ql 92 xn = 2.237m

4) BEICET HIRE

__Rh _ 97.18 _
Fs =<5 = g1 58 - 1191
Rh =2V -y = 21596 % 0.450 = 97.18 kN/m

2015/01/27 00:00 PAGE-

= 1.00
= B/2= 1.350
= 300
= 1.00
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No. 1 [ER&HHI] (L BufeEE]
3-9-4 LEDFE (CHFHER)
EF [7—0 0xEARK] CEYHEZEITS
- TEOERESICERAE L EEERAIL. EEAMETHEZTS
MEREMA O = tan™ (1 kv) = tan™! (1 0. (2)500 = 14.03°
BEREEASe = ¢ = 4 * 25.0 = 12.50
1) E@EERK
Kea = (1 - kv) -cos?(¢p-a-6)
cos6 - cos?2a -cos(Seta+6) -(1 + /géggggfjle)smécﬁ_(g:gg )2
¢-B-6 =25.00- 0.00-14.03 = 10.96° (p<B+ODEZE 0)
deta+6 =12.50 + 0.00 + 14.03 = 26.53°
Kea = (1 - 0.00) * cos2(25.0 - 0.00 -14.03) ~ = 0.6006

sin(25.0+12.50) - sin(10.96)

cos14.03 * cos?2 0.00 * cos(26.53) * (1 + /cos (26 53) - cos ( 0.00- 0.0)

) BEH-LBEE
PMz—%K%-rvHZ:%—*Qm%*1TO*31%2: 50.65 KN/m

3 REHFEICIDILE
Pa2 = Kea-q-H =0.6006 * 10.0 x 3.150 = 18.91 kN/m

4) LtEFERAEICEDSSN

{EAAESs = a+8 = 0.000 + 12.500 = 12.500°

Pal_H = Pal -cos8s = 50.65 * cos(12.500) = 49.45 kN/m
Pal_ V = Pal -sinds = 50.65 * sin(12.500) = 10.96 kN/m
Pa2 H = Pa2 - cos8s = 18.91 * cos(12.500) = 18.47 kN/m
Pa2 V = Pa2 - sin8s = 18.91 * sin(12.500) = 4.09 kN/m



*xxx Super Build,/ EEHEEE »x 160-999999 [&ZHET. #&&EsT&EH]

No. 1 [ER&HHI] (L BufeEE]
3-9-5 HMtEDWLHEFHE
1) fERHDEE

2015/01/27 00:00 PAGE-

2lth MEERIR L Y Omm
g P S y M S M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m] [kNm/m]
+E 50. 65 49.45 1.050  51.92
EEHEECLBLE 18. 91 1847 1.575 2909
& &t 5 67. 92 81.02
2) WiERE (D(+h) [B2%5 - D16 —@125]
M =  81.02 kNm/m
S =  67.92 KN/m
_As _ 1588. 8 _
P = p.d = 7000 232 - 000684
k = «/ 2pn + (p.n)z - p-n
- /7% 0.00684 * 15 + (0.00684 * 15)2Z - 0.00684 * 15 = 0.362
. kK _,_ 02362 _
J =1 - 3= 1 — 3 = 0.879
_ 2-M 2 * 81.02 x 1eb _
¢ = -b-dZ T 0.362 % 0.879 x 1000 * 232z - 2466 N/mm* = 2100
_ M _ 81.02 x 1eb _
08 = Rs-j-d T 1588.8  0.879 x 232 = 249.91 N/mm? = 205.0
_ S _ 67.92 * 1e3 _
T = bj-d T 1000 % 0.879 % 232 = 0382 Nm? = 2.10
3-9-6 MHEEMRDIGHETE
1) ERIHDES
2t hhé kgL Y Omm
g P S X M S M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m] [kNm/m]
Rk (DHEEER) 20.16 20.16 1.200  24.19
EE+ 128.52 |  128.52 1.200 154 22
EEBAE 2400 2400 1.200  28.80
TE 50. 65 1096 1.600 17.54
REHEECLALE 18. 91 4.09 1.600 655
LR R 5 16715 | -161.93 0 645 -104.58
& &t 3 25. 80 126.72
X WO FROM = 81.02
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-@150]

2015/01/27 00:00 PAGE-

0.00469 = 15 = 0.311

No. 1 [ER&t1] (L BfEEE)]
2) WiERE (DiHh) [ERf : D16
M =  81.02 kNm/m
S = 2580 kN/m
s 1324.0
P = . = 7000 * 282 0.00469
k =4 2pn+ (prn)2 -p-n
- /7 % 000460 * 15 + ( 0.00460 * 15)2
j :1—%_1—%: 0. 896
oo 2M 2 % 81.02 % 1eb
K-j-b-d? - 0.377 * 0.896 * 1000 * 2822
pe o M . 81.02 * 1e6
= As-j-d " 1324.0 * 0.896 * 287
. ___s ) 25.80 * 1e3
= B-j-d "~ 7000 * 0.896 * 287

7.300

242.13

0.102

N/mm?

N/mm2

N/mm?

= 21.00

= 295.0

A

2.10

36

0K

0K

0K



sk Super Build,/ EEHERE ok« 160-999999 [ BT, HEEHEH] 2015/01/27 00:00 PAGE- 37
No. 1 [EREt#HI] (L ZUfEEE)
3-10 EFRER (KMER  #ERLTE) [REBFEHSGIMGE]
3-10-1 T EDFHE (REHER)
X MERER (KHMER : thERFLIE) OLEDOHELRLTHDI-H. HAZERLET,
3-10-2 fEAHDEEL

NEA KE A
E P V X VX H y Hy
[kN/m] [kN/m]l  [m]  [kNm/m] [kN/m]  [m]  [kNm/m]
R 1K 45. 36 45.36 0.750  34.02 0.00 1.050  0.00
EEL 128.52 | 128.52 1.500 192,78 0.00 1.925  0.00
TE 62. 53 1353 0.300 4 06 61.05 1.166  71.23
& & 5 187. 41 230. 86 61.05 71. 23
3-10-3 REHE
1) BB 9 A&t
M . Svx . 230.86 _
Fs = M- = 5= —2008 = 320 > 1.00 0K
2) EHERMEDRET
C Mr-Mo _ 230.86 - T71.23 _
d =—"5sv = 187 41 = 0.81m
6 :{}—d :Alg@L— 0.851 = 0.498 m < B/2= 1.350 OK

3) ERHBOIENICET M
X B AR A ER B ROEMIE/3OHR<HS (B/6<|e|<B/3)
2:-2V _ 2 x 181.41

ql = - 146.69 kN/m2 < 300 0K
3« (o -le) 3% 2100 — 0 498)
Xn
ql 92 xn = 2.555m
4) BEICET HRE
Fs= 0= —B43%8 = 4 39 > 1.00 0K

Rh=2V-pu = 187.41 % 0.450 = 84.33 kN/m
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No. 1 [EREt#HI] (L ZUfEEE)
3-10-4 TEDEHE (USHEHER)
X HIERIER (KHhER : HhERLTE) OLEDHELRLTHL N, HAZTEBRLET,
3-10-5 #tEDIEHEE
1) ERIGHDEE

elrke! MEEERImE Y Omm
(i P S y M S y M
[kN/m] [kN/m] [m]  [kNm/m] [kN/m] ~ [m]  [kNm/m]
tFE 50.65|  49.45 1.050  51.92
& & 3 49. 45 51 92
2) WiERE (DF4) (845 : D16 ~0125]
M = 51.92 KNn/m
S = 49.45 KN/m
As _  1588.8  _
P ="p.d = 7000 x 237 - 000684
k = J z-p-n + (p.n)z - p-n
= /7% 000684 = 15 + ( 0.00684 * 15)Z - 0.00684 * 15 = 0.362
io=1- K=o 0302 o g7
- 2M  _ 2 * 51.92 * 1e6 _
0C = Kj-b-dZ ~ 0.362  0.879 x 1000 * 2322 - O-061 N/mm* =< 21.00 0K
oM 51,92 * 16 _
_ s 4945 * 1e3 _
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No. 1 [E&&EtHI]1 (L BUfEEE)]
3-10-6 MM ERRDIENETE
1) ERARHDEE

Sk A EREEEY  Omm
g #E P S X M S X M
[kN/m] [kN/m]  [m] [kNm/m] [kN/m]l  [m]  [kNm/m]
Bk (DD EER) 20 16 2016 1.200  24.19
TE+ 128.52 | 128.52 1.200 154.22
TE 50. 65 10.96 1.600 17.54
ERR 5 12947 | -145.99 0.751 -109. 74
& & 5 13. 65 86. 21
X WES[FROM = 51.92
2) WRERE (Dl+h) [B2%5 : D16 —-@150]
M =  51.92 KkNm/m
S = 13.65 kN/m
_As 1324. 0 .
P = h.d - fo00 x 287 - 0-00469
k =42pn+ (pn)2 -p-n
= J 7 * 000469 ¥ 15 + ( 0.00469 * 15)Z — 0.00469 * 15 = 0.311
-k _ 4 _ 0311 _
io=1- K= 31~ 0.896
M 2 % 51.92 % 1e6 _
0C =4 ].p-dz = 0.377 # 0.896 * 1000 = 2822 - 4679 N/mm? =< 21.00  OK
Y . 51.92 % 1e6 )
08 = ps-j-d T T324.0 % 0.896 * 282 = 19519 N/m? = 205.0 0K
_ S _ 13.65 * 1e3 _



*xxx Super Build,/ EEHEEE »x 160-999999 [&ZHET. #&&EsT&EH]

No.

1 [E&&HH]

4 BFHEROFELD
4-1 REHEHRE—E

(L BgERE)

2015/01/27 00:00 PAGE-

. ER B & 13 BB AR A
RIEIRRE — [kN/m2]
[kN/m] RER {R10> [m] RER e amax amin
= V="208.94 3.794 0.412 1. 847 148. 24 6.53
BELE H= 50.89| = 1.50 | = 0.450| = 1.50 = 150
KEHTE HY 0K 0K 0K 0K
= V=" 182.15 4.759 0. 355 2.137 120.79 14.13
EELE H= 38.34| = 1.50 | = 0.450| = 1.50 = 150
TEBRE HL 0K 0K 0K 0K
Kith E = 208.94 1.910 0.743 1.007 229. 48
BELTE+EMEAH H= 93.36| = 1.00 | = 1.350| = 1.00 = 300
FEEBRE HY 0K 0K 0K 0K
Kih ErE = 182.15 1.954 0.735 1.014 197. 58
BELTE+EEAH | H= 80.81 | = 1.00 | =< 1.350| = 1.00 = 300
FEBWE L 0K 0K 0K 0K
Rih =B V=" 215.96 2.503 0. 604 1.191 193. 03
MERFLE = 81.58| =2 1.00 | =1.350| = 1.00 = 300
FEBRE HY 0K 0K 0K 0K
Kith ERF = 187.41 3.240 0.498 1. 381 146. 69
MERFLE H= 61.05| = 1.00 | = 1.350| = 1.00 = 300
FESHWE AL 0K 0K 0K 0K
4-2 MERDILHEFEHZR—E
b D d [y As p n k J
(mm]  [mm]  [mm] [mm?2]
Dlth 1000 300 22% D16 —-@125 1588.8 0.00684 15 0.362 0.879
t =
1ER A oc os T
RTEIKRE & | M [kNm/m]
S [kN/m] [N/mm2] [N/mm2] [N/mm2]

B #EEE | M= 53.80 6. 280 166. 00 0. 208
BRI E D42 | S= 42.54 | = 7.00 =< 19.0 |= 0.70
FEBRE HY 0K 0K 0K
i HEEE | M= 36.01 4.203 111.10 0.153
BELE D42 | S= 31.24 | = 71.00 < 195.0 |= 0.70
FEEBRE LTL 0K 0K 0K
b #h = B HEEE | M= 56.69 6.618 174.93 0.225
BEELEHEMESN | DIF42 | S= 46.08 | = 14.00 | = 295.0 | = 1.40
FEBRE HY 0K 0K 0K
o i B WEEE | M= 38.90 4. 541 120. 03 0.170
BEEETE+IE I.*JJ DIt [S= 34.78| = 1400 | = 2950 | = 1.40
REEHFE 0K 0K 0K
Hih B B HEEE O M= 72.74 8. 491 224 44 0.298
MERFTE DIF+ [S= 60.99| = 1400 |[= 2950 | = 1.40
FEHBRE HY 0K 0K 0K
i = B HEEE | M= 46.62 5. 442 143. 85 0.217
MERFLE DIlF+ | S= 44.40 | = 14.00 = 295.0 | = 1. 40
FEEBRE L 0K 0K 0K
Kith ERF HEEE | M= 58.48 6. 826 180. 44 0. 231
BETEFEEAD | DTt | S= 47.21 | = 21.00 < 295.0 | = 2.10
FEBRE HY 0K 0K 0K

40
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2015/01/27 00:00 PAGE-

No. 1 [E&&tHI]1 (L ZEHEE)
. eI 71 oc os T
mEIKEE & | M [kNm/m]

S [kN/m] [N/mm2] [N/mm2] [N/mm2]
Rith =B HEEE | M= 40.69 4.749 125.54 0.176
EBREETE+HEESN | DTt | S= 35.91 | = 21.00 = 295.0 | = 2.10
FEBWE TL 0K 0K 0K
RithE b HEEE | M= 81.02 9. 456 249.97 0.332
MERFLE 2lF+ | S= 67.92 | =< 21.00 = 295.0 | = 2.10
FEBRNE HY 0K 0K 0K
Kith ERF HEEE | M= 51.92 6. 061 160. 21 0.242
MERFLE DIlFt | S= 49.45 | =< 21.00 =< 295.0 | = 2.10
FEEBRE LTL 0K 0K 0K

4-3 WINEERDISHEFERR—E
b D d i) As 0 n k ]
[mm]  [mm]  [mm] [mm2]
Dlth 1000 350 22% D16 -@150 1324.0 0.00469 15 0.311 0.896
t =
ERIGH oc os T
R EIKRE fIE | M [kNm/m]

S [kN/m] [N/mm2] [N/mm2] [N/mm2]
B e | M= 53.80 4.848 160. 80 0. 059
wRL Dlf4a | S= 15.05 | = 7.00 =< 195.0 |= 0.70
ﬁﬁﬁﬁi HY 0K 0K 0K
i e | M= 36.01 3.245 107. 62 0. 030
EELTE D4 | S= 7.68| = 7.00 | = 195.0 [ = 0.70
REEHEE HL 0K 0K 0K
i ih BB e | M= 56.69 5.109 169. 45 0.118
BELTE+HEMEAH | D4 |S= 30.07 | = 14.00 | = 2950 | = 1.40
FEEBRE HY 0K 0K 0K
i B B e | M= 38.90 3. 505 116. 27 0.086
BRLIEHEEN | D4 S 21.83 | = 1400 | = 295.0 | = 1.40
FEBWE L 0K 0K 0K
i = B hme [ M= 72.74 6. 555 217. 41 0.087
MERFLE DlF+ |S= 22.22 | =< 14.00 = 295.0 | = 1.40
FEBRE HY 0K 0K 0K
i = B hmveE | M= 46.62 4.201 139.34 0. 046
MERFLE DIFH[S= 11.74| = 14.00 < 295.0 | = 1. 40
FEEBRE LTL 0K 0K 0K
Kith EF e | M= 58.48 5.270 174.78 0.142
BELTE+EMEAH | DIFta |S= 36.12 | = 21.00 | = 2950 | = 2.10
FEBRE HY 0K 0K 0K
K EES mmé (M= 40,69 3. 666 121. 61 0. 109
BEEETE+IE I_&JJ Dt |S= 27.68| = 21.00 | = 2950 | = 210
REEHFE 0K 0K 0K
RithEwF e |[M=  81.02 7. 300 242.13 0.102
wERLE Dt |S= 2580 | = 21.00 | = 2950 |= 210
FEHBRE HY 0K 0K 0K
Kith ERF MhmeE [ M= 51.92 4.679 155. 19 0. 054
MERFLE 2lF+ | S= 13.65| = 21.00 = 295.0 | = 2.10
FEEBRE L 0K 0K 0K
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